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QUESTION 1

The WITH CHECK OPTION clause of the CREATE VIEW statement allows you to do which of the following? 

A. Define a view on one or more tables or views. 

B. Revalidate all invalid objects that are referenced on a view\\'s fullselect. 

C. Ensure that any inserted or updated rows conform to the definition of the view. 

D. Define a view that only consists of columns that have check constraints defined. 

Correct Answer: C 

 

QUESTION 2

What isolation level prevents dirty reads, nonrepeatable reads, and phantoms? 

A. Read stability (RS) 

B. Cursor stability (CS) 

C. Repeatable read (RR) 

D. Uncommitted read (UR) 

Correct Answer: C 

 

QUESTION 3

What is the purpose of the Query Tuner? 

A. To automatically capture and stop rogue queries. 

B. To provide recommendations and analysis for tuning a single query. 

C. To provide recommendations and analysis for tuning up to 100 queries. 

D. To recommend indexes and to guide DBAs through the process of creating new indexes. 

Correct Answer: B 

 

QUESTION 4

Which SQL statement will give user USER1 the ability to assign a comment to a sequence named MYSEQ? 

A. GRANT ALTER ON SEQUENCE myseq TO user1 

B. GRANT USAGE ON SEQUENCE myseq TO user1 
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C. GRANT SELECT ON SEQUENCE myseq TO user1 

D. GRANT COMMENT ON SEQUENCE myseq TO user1 

Correct Answer: A 

 

QUESTION 5

A new user named USER1 needs to retrieve information from a database named MYDB. What authority must be
granted to user USER1? 

A. DBCTRL authority 

B. SQLADM authority 

C. DATAACCESS authority 

D. ACCESSCTRL authority 

Correct Answer: C 

 

QUESTION 6

Which two DB2 objects can a view be derived from? (Choose two.) 

A. View 

B. Index 

C. Table 

D. Trigger 

E. Procedure 

Correct Answer: AC 

 

QUESTION 7

Which product replaced the Control Center used in versions prior to DB2 v10? 

A. IBM Data Studio 

B. IBM Administrator 

C. IBM Data Manager 

D. IBM Command Center 

Correct Answer: A 
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QUESTION 8

Which method for restricting data access relies on a SQL search condition that describes what set of rows a user has
access to? 

A. Authentication 

B. Authorities and privileges 

C. Label-based access control 

D. Row and column access control 

Correct Answer: D 

 

QUESTION 9

Which statement is true about an index that is used to support a UNIQUE constraint? 

A. It must not contain more than one column. 

B. It cannot be used in a referential constraint. 

C. It must be defined with the UNIQUE attribute. 

D. It must be defined as UNIQUE WHERE NOT NULL. 

Correct Answer: C 

 

QUESTION 10

Which command will delete all rows from a table without generating log records? 

A. TRIM 

B. DROP 

C. DELETE 

D. TRUNCATE 

Correct Answer: D 

 

QUESTION 11

Which product is used to customize execution environments for the purpose of controlling system resources so that one
department or service class does not overwhelm the system? 

A. pureScale 
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B. Workload manager 

C. Data partitioning feature 

D. Self-tuning memory manager 

Correct Answer: B 

 

QUESTION 12

Given the following DDL statement: CREATE TABLE sales (item CHAR(20)); If a DBA wishes to increase the size of the
ITEM column, which SQL statement needs to be used? 

A. ALTER TABLE sales ADD COLUMN item CHAR(40); 

B. ALTER TABLE sales ALTER COLUMN item CHAR(40); 

C. ALTER TABLE sales MODIFY COLUMN item CHAR(40); 

D. ALTER TABLE sales ALTER COLUMN item SET DATA TYPE CHAR(40); 

Correct Answer: D 

 

QUESTION 13

Application APP_A is performing updates to table TAB1 using the cursor stability (CS) isolation level. If application
APP_B wants to retrieve all rows from table TAB1 without waiting for application APP_A to finish making updates, what
isolation level must application APP_B use? 

A. Read Stability (RS) 

B. Repeatable Read (RR) 

C. Uncommitted Read (UR) 

D. Cursor Stability (CS) 

Correct Answer: C 

 

QUESTION 14

What takes place when a process accesses a data object on which it already holds a lock, and the access mode
requires a more restrictive lock than the one currently held? 

A. Lock wait 

B. Lock timeout 

C. Lock escalation 

D. Lock conversion 
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Correct Answer: D 

 

QUESTION 15

Which DB2 object is associated with PREVIOUS VALUE and NEXT VALUE expressions? 

A. View 

B. Table 

C. Sequence 

D. Identity Column 

Correct Answer: C 
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